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Woman; There are very nice shirts. How much are
‘ they?
Man; 5 dollars each. For two, 9 dollars. They are

on sale today.

Third Voice :Hew much does one shirt cost?

(A) $4.50. B> $5.00.

(C) $9.00. (D) $10.00.

Woman Excuse me, sir,where is Dr. Brown’s office?

Man . The Doctor’s office is on the sixth floor , but
the elevator only goes to the fifth. So youll
have to use the stairs to reach the sixth
floor. It is the ninth room on the right.

Third Voice :On which floor is the doctor’s office?

(A> The fifth floor. (B)> The sixth floor.

(C) The ninth floor. (D) The third floor.

Woman ; Is this the bookcase you advertised?

Man; Yes,it’s our regular $14. 95 bookcase on sale
today for $9.90. These are the last two. If

1
4




Bl 4

1.

you can use them both,you can have the pair
for § 15. 00.

Third Voice: What is the present price of the bookcase?

(A) You can buy two bookcases for $ 9. 90 each.

(B) One bookcase will cost $ 7. 50 if she buys two or

% 9. 90 if she only buys one.

(C) A bookcase costs $ 15. 00.

(D) Bookcases cost $ 14. 95 for two.

Woman ; Our neighbors have three cars, one for the
son and one each for the parents.

Man; I jusi don’t think we need that many cars. I
think we manage quite well with Joe taking
the bus and me dropping you off on my way
to work.

Third Voice : How many cars do the couple have?

(A) One. (B) Two.

(C) Three. (D) None.

Man . I'm in charge of buying the fruit for the chil-
dren at our church. I’'m so happy to find that
apples and plums are in season. Give me two
dozen of each.

Woman ; 1 hope that they’re as good as they look.

Third Voice: How many apples did the man buy?

(A) 12. (B) 24. (C) 36. (D) 48.

#>] (Exercises)

(A) It is closed. B) 9A.M. to 5 P.M.
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11.

12.

13.

14.

15.

16.

©

(A) By December thirtieth.

B
©
(D)
(AD
B
©
(D)
A)
(A)
(A
A)
(A)
(A
(A
©
(A
©

¢:9)

©
(A
(A
(A
©
(A)

12 noon to 9 P. M.

By New Year’s.
By December third.

(D) 9 A.M. to 12 noon.

By December thirteenth.

The cablevision is not working.

All of them but channel seventeen.

Channel seventeen.
All of them.

6:30. (B) 6:13.
2. (B) 50.
7+50. (B) 7:15.
$8. (B $4.
16. (B) 20.
$60. (B) $100.
About 6 p. m.
About noon,

Six weeks.

Four weeks.

By two o’clock.

By four o’clock.

30. (B) 14.
9:50. (B) 8: 30.
Friday morning.
Friday afternoon.

A few days.

(C) A couple of weeks.

©)
(@)
©
©
©)
©
@B’
€0))
(B
€5
B
(D
©
«©
B)
)
(B)
€8 )

6: 33.
22.
7th.
$7.

(D) 3: 30.
(D) 1s.
(D) 17th.
(D) $3.50.
88. (D) 60.
$120. (D) $200.
At 3: 30 p. m.
After dinner.

Five weeks.

Three weeks.

By three o’clock.

By twelve o’clock.
13. (D) 40.
9:00. (D) 9= 15.
Saturday morning.
Saturday afternoon.
We don’t know.

Just one week.



17.
18.
19.

20.

(A) $%$15.
(A) 8o0. (B) 18.
(A) In 12 minutes.
(C) In 50 minutes.

.(A) 14 cents.

(C) 44 cents.

(B) § 30.

(C) $50. (D> $100.
(C) 3:38. (D) 3:18.
(B) In 15 minutes.

(D) In 5 minutes.

(B) 40 cents.

(D) 4 cents.
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Woman .

Man:

Third Voice;
(A) 5:

Man :

Woman ;

Third Voice

The plane leaves at 5 ¢ 15. Do we have time
to eat first?

No. We’ve only got 40 minutes until depar-
ture time.

What time is it now?

(B) 5:40. (C) 4:35. (D) 5:01.
Let’s see now. They can park fifteen cars in
that back lot,can’t they?

Oh, didn* you know? They’ve doubled the

capacity.

:How many cars can be parked in the back Iot

now?

(A) A total of 15. (B) A total of 30.
(C) A total of 50. (D) A total of 100.

Man H

Woman :

I left home at 7 ¢ 00. What time is it now?
Just half past 8.

Third Voice: How long ago did the man leave?
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{A) 90 minutes. (B) 60 minutes.

“C) &0 minutes. (D) 9 minutes.
Woman ; If John doesn’t come to dinner,11l have 15.
Man: Let’s invite two more just in case.

Third Voice;If everyone comes,how many will have din-

ner?
(A) 18. (B) 50. (C) 5. (D) 55,
Woman If evervone runs for President,wholl run for

the other offices?

Man;. Of the nine candidates, only three are not

running for President.

Third Voice :How many people are running for President?
(A) Four. (B) Three. (C) Nine. (D) Six.

%3] (Exercises)

(A) $16. (B $12. (©)

(A) Seven o’clock. (B)
(C) Eight o'clock. (D)
(A) 7:10. (B) 7:00. (C)
(A) Two blocks. (B)

(C) Four blocks. (D)
(A) Ten o’clock. (B
(C) Nine o’lock. D)
(A) The price is not on the tag.
(B) $50. ) $15. (D)
(A) Six o’clock. (B)
(C) Eight o'clock. (D)

$ 4. D) $2.
Seven-thirty.

Nine o’clock.

6:50. (D) 7:05.
Three blocks.

Five blocks.
Nine-thirty.

Five o’clock.

$5.
Seven o’clock.

Eight-thirty.



10.
11.
12.

13.
14.
15.
16.
17.

18.
19.
20.

(A)
(A>
B
©
¢0))
(A)
(A)
(A)
©
A
A
A)
A
(A)
B
©
(D)
A
A
(A)

$150. (B) $175.

It cost a nickel a gallon.

(D) $225.

(C) $200.

[t cost 55 cents a gallon.

It cost 60 cents a gallon.

It cost 65 cents a gallon.

$0.75. (B) $1.00.
160 lbs. (B) 150 Ibs,
After five.

In the morning.

42. (B)> 60.
$30. (B $s60.
Two. (B) Four.
8:00. (B) 8:20.
About 60.

More than 60.

Half of the student body.

About 30.
Six. (B) Twelve.
Three. (B) Four.

Forty minutes.

(C) $3.25. (D) $5.00.
(C) 163 lbs. (D) 153 lbs.
(B) At or before five.

(D) Late at night.

) 6. (D) 7.

(©) $13. (D) $26.
(C) Three. (D) One.
(C) 7:40. (D) 8:10.
(C) Three. (D) Five.
(C) Five. (D) Seven.
(B) Thirty minutes.

(C) The same as the 5t 30. (D) Nearly an hour.
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11 Woman: According to this history book, the cotton
embargo preceded the War Between the
States.
Man ; I thought it was done in retaliation for the
secession.
Third Voice ; What can be said for the cotton embargo?
(A) It occurred before the war.
(B) It caused the secession.
(C) It was a success.
(D) It came much later in the war.
]2 Woman: How are you coming on your research paper?
Man I’ve finished all my research, but I haven’t
been able to organize it,]1 have to do that be-
{fore 1 can write the paper.
Third Voice : What does the man have to do now?
(A) Finish checking his references.
(B) Complete the research.
(C) Put the material in order.

(D) Finish typing the paper.
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‘Woman;

Man:

Third Voice:

(A) Both of
(B) Both of

Well, I like classical music,and 1 go to the
concert every weekend. What about you?
Classical music is my favourite. But I used to
like pop music very much. Pop music, you
see |

What do the man and the woman have in
common?

them like classical music.

them like pop music.

(C) They like to go to the museums very much.

(D) They both go to the concert very often.

Woman:

Man '

Third Voice:

Let me get you a soft drink,what would you
like to have,Coca Cola or soda?

It makes no difference actually ,but I'd like to
have the latter if you don’t mind.

What do we learn from the conversation?

(A) The man believes the soft drinks are different from

soda.

(B) The man like to have soda.
(C) The man would rather have Coca Cola.

(D) The man declined the offer by the woman.

Woman ;

Man

Third Voice;

You have a good figure, let me take your
measurement first and then make the suit,
Measurements are one thing and making it is
another.

What did the man mean?

(A) He didn’t want the suit made.




